
matma trudna

trudny

Poziom trudności: Średni

1. 7890-657+7890-5432=

A - 9691

B - dgusud

C - hhghghg

D - hghghghg

2. 890razy234567890=

A - 208765422100

B - 1234567890

3. 56789-234254+890987+543-789=

A - 713276

B - 9876540

4. 89+2=

A - 91

B - 90

5. 7890+111=

A - 8001

B - 098

6. 890-567=

A - 323

B - 567

7. 3456-678

A - 2778

Copyright © 1995-2024 Wirtualna Polska



B - niwem morze 345

8. 789-645=

A - 144

B - 100

9. 956+23456=

A - 24412

B - yyyyy 67868

10. 7654+9087-2340

A - 14401

B - yyy 1001
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matma trudna

trudny

Poziom trudności: Średni

Karta odpowiedzi

1. A

2. A

3. A

4. A

5. A

6. A

7. A

8. A

9. A

10. A

Copyright © 1995-2024 Wirtualna Polska


